SOLUTION OF DIFFUSION EQUATION VIA INFINITESIMAL GROUP METHOD

HEENABEN A. RAJ

Assistant Professor, Mathematics Department, Mbict, New Vallabh Vidhyanagar, Anand, Gujarat, India.

M. G. TIMOL

Professor, Mathematics Department, Veer Narmad South Gujarat University, Surat, Gujarat, India.

(Received On: 30-12-15; Revised & Accepted On: 13-01-16)

ABSTRACT

 $m{I}$ n this paper, the infinitesimal group transformation method is used to solve diffusion equation. Na & Hansen introduced this infinitesimal transformation method in terms of characteristic function method. With the help of this transformation the diffusion equation can be transformed into an Ordinary Differential Equation. The method presented in this paper is seen to be very general in nature. Basically, the method established the connection between one equation and all other equations under the contact transformation group of transformation, by the procedure of choosing different form of the characteristics function w.

Key Words: Diffusion Equation, Infinitesimal Group Transformation, Characteristic function.

1. INTRODUCTION

Characteristic function method is applicable to solve a wider variety of non linear problems. The characteristic function method, in general, is a class of transformation which reduces the number of independent variables in some system of partial differential equation by one. The characteristic function method is more convenient and more systematic since it express the infinitesimals of the group in terms of one or more functions called the characteristic functions, where each function depends only on one of the dependent variable. The characteristic function method is more transparent and requires less effort to arrive the final result.

2. MATHEMATICAL FORMULATION

Joseph Fourier formulated a very complete expansion of the theory of heat conduction. The law that bears his name is
$$q = -k \frac{du}{dy}$$
 (2.1)

The constant, is called the thermal conductivity. We had to deal with a major problem that arises in heat conduction problems. The problem is that Fourier's law involves two dependent variables, u and q. To eliminate q and first solve for u, we introduce the first law of thermodynamics implicitly: Conservation of energy required that q was the same in each metallic slab.

To elimination of q from Fourier's law must now be done in a more general way. Consider a one-dimensional element, as shown, the net heat conduction out of the element during general unsteady heat flow is

$$q_{net} A = Q_{net} = -kA \frac{d^2 u}{dy^2} \delta y \tag{2.2}$$

To eliminate the heat loss Q_{net} in favor of T, we use the general first law statement for closed,

$$Q_{net} = \frac{dU}{dt} = \rho c A \frac{d(u - u_{ref})}{dt} \delta y = \rho c A \frac{du}{dt} \delta y$$
(2.3) Where ρ is the density of the slab and c is its specific heat capacity. Equations (2.2) and (2.3) can be combined to give

$$\frac{d^2u}{dv^2} = \frac{\rho c}{h} \frac{dT}{dt} = \frac{1}{\alpha} \frac{du}{dt} \tag{2.4}$$

Corresponding Author: Dr. Heenaben A. Raj Assistant Professor, Mathematics Department, Mbict, New Vallabh Vidhyanagar, Anand, Gujarat, India. This is the one dimensional heat diffusion equation.

The heat diffusion equation includes a new property which is as important to transient heat conduction as k is to steady state conduction. This is the thermal diffusivity:

$$\alpha = \frac{k}{\rho c} \frac{j}{m.s.k} \frac{m^3}{kg} \frac{kg.k}{j} = \alpha \frac{m^2}{s} = 1$$
 (2.5)

3. PROBLEM SOLUTION

Na & Hansen express the infinitesimals of the groups in terms of characteristics function method, The Heat Equation,

$$\frac{\partial u}{\partial t} = \frac{\partial^2 u}{\partial y^2} \tag{3.1}$$

The Equation can be written as,

Where

$$p_{1} - p_{22} = 0$$

$$p_{1} = \frac{\partial u}{\partial t}, \ p_{2} = \frac{\partial u}{\partial y}$$

$$p_{11} = \frac{\partial^{2} u}{\partial t^{2}}, \qquad p_{22} = \frac{\partial^{2} u}{\partial y^{2}}, \qquad p_{12} = \frac{\partial^{2} u}{\partial t \partial y}$$

$$(3.2)$$

Infinitesimal group of transformations are taken as follow;

$$\frac{1}{\overline{v}} = t + \varepsilon \xi(t, y, u) + o(\varepsilon^{2})$$

$$\overline{y} = y + \varepsilon \eta(t, y, u) + o(\varepsilon^{2})$$

$$\overline{u} = u + \varepsilon \zeta(t, y, u) + o(\varepsilon^{2})$$

$$\overline{p_{1}} = p_{1} + \varepsilon \pi_{1}(t, y, u, p_{1}, p_{2}) + o(\varepsilon^{2})$$

$$\overline{p_{2}} = p_{2} + \varepsilon \pi_{2}(t, y, u, p_{1}, p_{2}) + o(\varepsilon^{2})$$

$$\overline{p_{22}} = p_{22} + \varepsilon \pi_{22} \xi(t, y, u, p_{1}, p_{2}, p_{11}, p_{22}) + o(\varepsilon^{2})$$

$$\xi = \frac{\partial w}{\partial p_{1}}$$

$$\eta = \frac{\partial w}{\partial p_{2}}$$

$$\zeta = p_{1} \frac{\partial w}{\partial p_{1}} + p_{2} \frac{\partial w}{\partial p_{2}} - w$$

$$\frac{\partial w}{\partial p_{2}}$$

Where

$$\gamma = \frac{\partial p_2}{\partial p_1} + p_2 \frac{\partial w}{\partial p_2} - v$$

$$\pi_1 = -\frac{\partial w}{\partial t} - p_1 \frac{\partial w}{\partial u}$$

$$\pi_2 = -\frac{\partial w}{\partial v} - p_2 \frac{\partial w}{\partial u}$$

Invariance under the transformations can be written as

$$\pi_1 - \pi_{22} = 0 \tag{3.4}$$

$$\frac{\partial^2 w}{\partial p_1^2} = 0$$

W is independent of p_1 and it is linear function of p_1 . $w = w_1(t, y, u, p_2) + p_1 w_2(t, y, u, p_2)$

$$w = w_1(t, y, u, p_2) + p_1 w_2(t, y, u, p_2)$$
(3.6)

The coefficient of
$$p_{12}$$
 is zero,

$$2\frac{\partial^2 w}{\partial y \partial p_1} + 2p_2 \frac{\partial^2 w}{\partial u \partial p_1} + 2\frac{\partial^2 w}{\partial p_1 \partial p_2} = 0$$
(3.7)

Using equation (3.5), we have
$$\frac{\partial w_2}{\partial y} + p_2 \frac{\partial w_2}{\partial u} + p_1 \frac{\partial w_2}{\partial p_2} = 0$$
 (3.8)

 w_2 is not a function of p_1 , coefficient of p_1 is must be zero.

$$\frac{\partial w_2}{\partial p_2} = 0 \tag{3.9}$$

 w_2 is independent of p_2 .

$$w_2 = w_2(t, y, u) (3.10)$$

Similarly w_2 is independent of y and u also.

$$w_{2} = w_{2}(t)$$

$$\therefore w = w_{1}(t, y, u, p_{2}) + p_{1} w_{2}(t)$$

$$\therefore -\frac{\partial w}{\partial t} - p_{1} \frac{\partial w}{\partial u} + \frac{\partial^{2}w}{\partial y^{2}} + 2 p_{2} \frac{\partial^{2}w}{\partial y\partial u} + p_{2}^{2} \frac{\partial^{2}w}{\partial u^{2}} + 2 p_{12} \frac{\partial^{2}w}{\partial y\partial p_{1}} + 2 p_{12} p_{2} \frac{\partial^{2}w}{\partial u\partial p_{1}} + 2 p_{22} \frac{\partial^{2}w}{\partial y\partial p_{2}} + 2 p_{22} \frac{\partial^{2}w}{\partial u\partial p_{2}} + 2 p_{22} \frac{\partial^{2}w}{\partial u\partial p_{2}} + p_{22} \frac{\partial^{2}w}{\partial u} = 0$$

$$(3.11)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.12)$$

$$(3.12)$$

$$(3.13)$$

$$(3.14)$$

$$(3.14)$$

$$(3.15)$$

$$(3.16)$$

$$(3.17)$$

$$(3.17)$$

$$(3.18)$$

$$(3.19)$$

$$(3.19)$$

$$(3.19)$$

$$(3.10)$$

$$(3.11)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.12)$$

$$(3.$$

$$-\frac{\partial w_{1}}{\partial t} - p_{1} \frac{\partial w_{2}}{\partial t} - p_{1} \frac{\partial w_{1}}{\partial u} - p_{1}^{2} \frac{\partial w_{2}}{\partial u} + \frac{\partial^{2} w_{1}}{\partial y^{2}} + p_{1} \frac{\partial^{2} w_{2}}{\partial y^{2}} + 2p_{2} \frac{\partial^{2} w_{1}}{\partial y \partial u} + 2p_{1} p_{2} \frac{\partial^{2} w_{2}}{\partial y \partial u} + p_{2}^{2} \frac{\partial^{2} w_{1}}{\partial u^{2}} + p_{1} p_{2}^{2} \frac{\partial^{2} w_{2}}{\partial u^{2}} + 2p_{1} \frac{\partial^{2} w_{2}}{\partial y \partial u} + 2p_{1} p_{2} \frac{\partial^{2} w_{1}}{\partial u^{2}} + 2p_{2} \frac{\partial^{2} w_{1}}{\partial y \partial p_{2}} + 2p_{2} p_{1} \frac{\partial^{2} w_{2}}{\partial y \partial p_{2}} + 2p_{2} p_{2} p_{2} \frac{\partial^{2} w_{1}}{\partial u \partial p_{2}} + 2p_{2} p_{2} p_{1} \frac{\partial^{2} w_{2}}{\partial u \partial p_{2}} + p_{2} \frac{\partial^{2} w_{1}}{\partial u \partial p_{2}} + 2p_{1} \frac{\partial^{2} w_{2}}{\partial u^{2}} + p_{2} \frac{\partial^{2} w_{1}}{\partial u \partial p_{2}} + p_{2} \frac{\partial^{2} w_{1}}{\partial p_{2}^{2}} + p_{2} \frac{\partial^{2} w_{1}}{\partial p_{2}^{2}} + p_{2} \frac{\partial^{2} w_{1}}{\partial u \partial p_{2}} + p_{1} p_{2} \frac{\partial^{2} w_{2}}{\partial u^{2}} = 0$$

$$(3.13)$$

Taking coefficients of p,

Ints of p,

$$p_{1}^{0}: -\frac{\partial w_{1}}{\partial t} + \frac{\partial^{2}w_{1}}{\partial y^{2}} + 2p_{2} \frac{\partial^{2}w_{1}}{\partial y \partial u} + p_{2}^{2} \frac{\partial^{2}w_{1}}{\partial u^{2}} = 0$$

$$p_{1}^{1}: -\frac{\partial w_{2}}{\partial t} - \frac{\partial w_{1}}{\partial u} + \frac{\partial^{2}w_{2}}{\partial y^{2}} = 0$$

$$(3.15)$$

$$p_{1}^{2}: \frac{\partial^{2}w_{2}}{\partial u^{2}} = 0$$

$$p_{1}p_{2}: \frac{\partial^{2}w_{2}}{\partial y \partial u} = 0$$

$$p_{22}: 2\frac{\partial^{2}w_{1}}{\partial y \partial p_{2}} + \frac{\partial^{2}w_{1}}{\partial u} = 0$$

$$p_{22}: \frac{\partial^{2}w_{1}}{\partial y \partial p_{2}} = 0$$

$$(3.18)$$

$$p_1^1: \quad -\frac{\partial w_2}{\partial t} - \quad \frac{\partial w_1}{\partial u} + \frac{\partial^2 w_2}{\partial v^2} = 0 \tag{3.15}$$

$$p_1^2: \quad \frac{\partial^2 w_2}{\partial u^2} = 0 \tag{3.16}$$

$$p_1 p_2 : \frac{\partial^2 w_2}{\partial x_1 \partial x_2} = 0 ag{3.17}$$

$$p_{22}: 2\frac{\partial^2 w_1}{\partial x^2} + \frac{\partial^2 w_1}{\partial x} = 0 ag{3.18}$$

$$p_{22}^2: \frac{\partial^2 w_1}{\partial n^2} = 0 \tag{3.19}$$

From equation (3.19), we have

$$\therefore w_1 = w_{11} + p_2 w_{12} \tag{3.20}$$

From equation (3.18), we have

$$2\frac{\partial^2 w_1}{\partial y \partial p_2} + \frac{\partial^2 w_1}{\partial u} = 0$$

$$2\frac{\partial w_{12}}{\partial y} + \frac{\partial^2 w_1}{\partial u} = 0$$
(3.21)

$$2 \frac{\partial w_{12}}{\partial y} + \frac{\partial^2 w_1}{\partial u} = 0 \tag{3.22}$$

W is depends only on y

$$\therefore w_{12} = w_{121} + w_{122} y \tag{3.23}$$

$$w = w_1(t, y, u, p_2) + p_1 w_2(t)$$
(3.24)

$$w = w_{11} + p_2 \left[w_{121} + w_{122} y \right] + p_1 w_2 \tag{3.25}$$

Now from equation (3.14), the coefficients of
$$p_2$$
 are;
$$p_2^0: -\frac{\partial w_1}{\partial t} + \frac{\partial^2 w_1}{\partial y^2} = 0$$
 (3.26)
$$p_2^1: 2 \frac{\partial^2 w_1}{\partial y \partial u} = 0$$
 (3.27)

$$p_2^1: \quad 2 \frac{\partial^2 w_1}{\partial y \partial u} = 0 \tag{3.27}$$

$$p_2^2 \colon \frac{\partial^2 w_1}{\partial u^2} = 0 \tag{3.28}$$

$$p_2^2 : \frac{\partial^2 w_1}{\partial u^2} = 0$$

$$\therefore w_{11} = w_{111} + w_{112} u$$
(3.29)
(3.30)

$$\therefore w_{11} = w_{111} + w_{112} u \tag{3.30}$$

Also,

$$p_2^2 : \frac{\partial^2 w_1}{\partial u^2} = 0$$
$$\therefore \frac{\partial^2 w_{11}}{\partial u^2} = 0$$

$$\div \frac{\partial^2 w_{11}}{\partial u^2} = 0 \tag{3.31}$$

$$\therefore w_{11} = w_{111} + w_{112} u \tag{3.32}$$

For
$$p_2^1: -\frac{dw_{121}}{dt} - \frac{dw_{122}}{dt}y + 2 \frac{\partial^2 w_{11}}{\partial y \partial u} = 0$$
 (3.33)

Here

$$\frac{\partial^2 w_1}{\partial y \, \partial u} = \frac{\partial w_{112}}{\partial y} \tag{3.34}$$

 w_{112} can be written as,

$$\therefore w_{112} = w_{1121} + w_{1122} y + w_{1123} y^2 (3.35)$$

All the W's are independent of y,

$$\therefore -\frac{dw_{121}}{dt} + w_{1122} = 0 ag{3.37}$$

Now from equation (3.29) and (3.30),

$$-\frac{\partial}{\partial t} (w_{111} + w_{112} u) + \frac{\partial^2}{\partial y^2} (w_{111} + w_{112} u) = 0$$
(3.39)

$$-\frac{\partial w_{111}}{\partial t} - \left(\frac{\partial}{\partial t} w_{112}\right) u + \frac{\partial^2 w_{111}}{\partial v^2} + \left(\frac{\partial^2}{\partial v^2} w_{112}\right) u = 0$$

$$-\frac{\partial w_{111}}{\partial t} - \left(\frac{\partial}{\partial t} w_{112}\right) u + \frac{\partial^2 w_{111}}{\partial y^2} + \left(\frac{\partial^2}{\partial y^2} w_{112}\right) u = 0$$

$$\left(-\frac{\partial w_{111}}{\partial t} + \frac{\partial^2 w_{111}}{\partial y^2}\right) - \left(\frac{\partial w_{1121}}{\partial t} - 2 w_{1123}\right) u - \frac{\partial w_{1122}}{\partial t} y u - \frac{\partial w_{1123}}{\partial t} y^2 u = 0$$
(3.40)

The coefficient of u^0 , u^1 , uy, uy^2 are zero.

$$\frac{\partial w_{1122}}{\partial t} = 0 \quad \Rightarrow \quad w_{1122} = c_1 \tag{3.41}$$

$$\frac{\partial w_{1123}}{\partial c_{12}} = 0 \quad \Rightarrow \quad w_{1123} = c_{2} \tag{3.42}$$

$$\frac{\partial w_{1122}}{\partial t} = 0 \implies w_{1122} = c_1$$

$$\frac{\partial w_{1123}}{\partial t} = 0 \implies w_{1123} = c_2$$

$$\frac{\partial w_{1123}}{\partial t} - 2 w_{1123} = 0 \implies w_{1121} = 2c_2 t + c_3$$
(3.41)

From equation (3.37),

$$w_{121} = 2c_1t + c_4 (3.44)$$

From equation (3.38),

$$w_{122} = 4c_2t + c_5 (3.45)$$

Now $-\frac{\partial w_2}{\partial t} + 2w_{122} = 0$

$$w_2 = 2w_{122}t + c_6$$

$$w_2 = 8 c_2 t^2 + 2t c_5 + c_6 (3.46)$$

$$w_{2} = 2w_{122}t + c_{6}$$

$$w_{2} = 8c_{2}t^{2} + 2t c_{5} + c_{6}$$

$$w = w_{111} + [2c_{2}t + c_{3} + c_{1}y + c_{2}y^{2}]u + [2c_{1}t + c_{4} + (4c_{2}t + c_{5})y] p_{2} + [8c_{2}t^{2} + 2t c_{5} + c_{6}]p_{1}$$
(3.46)
$$(3.47)$$

The characteristic equation is
$$\frac{\frac{dt}{\xi} = \frac{dy}{\eta} = \frac{du}{\zeta}}{\frac{dt}{8c_2t^2 + 2tc_5 + c_6}} = \frac{dy}{2c_1t + c_4 + (4c_2t + c_5)y} = \frac{du}{-w_{111} - [2c_2t + c_3 + c_1y + c_2y^2]u}$$
(3.48)

$$w_{111} = c_1 = c_2 = c_4 = c_6 = 0$$

$$\therefore \frac{dt}{2c_5t} = \frac{dy}{c_5y} = \frac{du}{-c_3u}$$
(3.49)

Let

$$\frac{dt}{2c_5t} = \frac{dy}{c_5y}$$

$$\therefore \quad \eta = \frac{y}{\sqrt{t}} \tag{3.50}$$

Let

$$\frac{dt}{2c_5t} = \frac{du}{-c_3u}$$

$$\therefore u = t^{\alpha}f(\eta) \tag{3.51}$$

Now $\frac{\partial u}{\partial t} = \frac{\partial^2 u}{\partial v^2}$ is transformed into the below equations

SOLUTIONS OF THE DIFFUSION EQUATIONS

Constant	Similarity Variables	Transformed Equation
$c_1 = c_2 = c_4 = c_6 = 0$	$\eta = \frac{y}{\sqrt{t}}, \ f(\eta) = \frac{u}{t^{\alpha}}$	$f'' = \alpha f - \frac{1}{2} \eta f'$
$c_1 = c_2 = c_4 = c_5 = 0$	$\eta = y$, $f(\eta) = \frac{u}{\exp(\beta t)}$	$f'' - \beta f = 0$
$c_1 = c_2 = c_5 = 0$	$\eta = y - \frac{c_4}{c_6} t$, $f(\eta) = u \exp(c_3/c_6) t$	$f'' + \frac{c_4}{c_6} f' + c_3/c_6 f = 0$
$c_1 = c_3 = c_4 = c_5 = c_6 = 0$	$\lceil / n^2 \rceil$	$f'' - \eta f' + \frac{3}{4}f = 0$
$c_1 = c_2 = c_3 = c_4 = c_6 = 0$	$\eta = \frac{y}{\sqrt{t}}, \ f(\eta) = u + [a(2t + y^2)]/4c_5$	$f'' + \frac{1}{2} \eta f' + = 0$

4. CONCLUSION

The carried out analysis in this paper, shows the effectiveness of the method in obtaining invariant solution of the diffusion equation. The characteristic function method shows clear simplifications, systematic procedure as well as elegance in the derivation based on the methods of invariance analysis as it is illustrated in the present work.

REFERRENCES

- 1. Na, T.Y. and Hansen, A.G., Similarity solutions of a class of laminar three-dimensional boundary layer equations of power-law fluids, Int. J. Non-linear Mech., vol.2, (1967), 373 385.
- 2. Schowalter, W.R.: The application of boundary layer theory to power-law pseudo plastic fluid; similar solutions, A.I. Ch. E. Journal, vol.6, No: 1, (1960), 24-28.
- 3. Seshadri, R. & Na,T.Y., : Group Invariance in engineering boundary value problems. Springer- Verlag, New York, Berlin Heidelberg, Tokyo, (1985), 157- 168.
- 4. Skelland, A.H.P.: Non Newtonian flow and heat transfer, John Wiley; N.Y. (1967).
- 5. Timol, M.G. and Kalathia, N.L.: Similarity solutions of three-dimensional boundary layer equations of non-Newtonian fluids, Int. J. non-Linear Mechanics, vol.21, No.6, (1986), 475 481.
- 6. Toepfer, K.,; Grenzschichten in Flussigkeiten mit Kleiner reibung, Z. Math. Phys., 60 (1912).
- 7. Mina B. Abd-el and Maleka, Medhat M. Helalb;: The characteristic function method and exact solutions of nonlinear sheared flows with free surface under gravity, Journal of Computational and Applied Mathematics 189 (2006) 2–21.

Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2016. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]